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The commodity markets have continued to make interesting 
watching. Silver went above $30 per troy ounce, a price level 
not visited since 1981 in the aftermath of the Hunt brother’s 
attempt to corner the market. Not to be out-done Cotton 
broke its high of the last 30 years, before advancing above 
$2 to mark a new lifetime high. Following on from these 
moves the top performing sectors this month were energies 
and precious metals. Losses in the portfolio were focused in 
bonds, with the equity positions ending the month slightly up. 
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